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1. Who among the following defined politics as “authoritative allocation of values™?
A) Edmund Burke B) David Easton
@) Robert Dahl D) Harold Laski
2. The first BRIC summit was conducted in ----- .
A) 2006 B) 2007 0) 2008 D) 2009
3. The author of the book ‘A Theory of Justice’:
A) Bernard Krick B) Harold J Laski
O) John Rawls D) Robert Nozik
4. Which among the following is not a feature of the social contract theory of Thomas
Hobbes?
A) Right to self preservation B) Right to revolution
@) Leviathan is law maker D) Contract is binding
5. International politics is “the struggle for, and use of, power among nations.” Who
made this observation?
A) Hans J Morgenthau B) Martin Wright
O) Morton Kaplan D) A L Burns
6. The Royal Commission on the superior services in India (LeeCommission ) was
appointed in ------ .
A) 1947 B) 1935 0O) 1923 D) 1950
7. Who chaired the ‘States Committee’ in the Constituent Assembly of India?
A) Jawaharlal Nehru B) B R Ambedkar
O) Sardar Vallabhai Patel D) Dr Rajendra Prasad
8. The article of Indian constitution dealing with the provision of maternity relief

A) Article 16 B) Article 41 0] Article 40 D) Article 42

0. The term "New Despotism" stands for:
A) Officials works for each other
B) Power and Authority of Bureaucracy

0) Red -Tapism
D) Militarism

10. Author of the book "The Nerves of Government":

A) Harold Lasswell B) Karl Deutsch
O) Robert A Dahl D) Sameul P Huntingtom
11.  Number of judges in the panel of international court of justice:

A) 15 B) 9 C) 14 D) 12
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The Article of the Indian Constitution under which Finance Commission is appointed:
A) Article 280  B) Article 226  C) Article 141 D) Article 324

Identify the wrong statement with regard to the features of Weberian model of

Bureaucracy:

A) There is a hierarchy of offices

B) There are multiple channels of communication
@) Official business in continuous basis

D) Officers are selected through competition

The Human Development Theorists, views development under the notions of:
A) Freedom B) Justice 0] Equality D) Religion

The principle of ‘span of control’ means:
A) An employee should receive orders from one superior only

B) The number of subordinate employees that an administrator can effectively
supervise
©) The control or supervision of the superior over the subordinate

D) The number of people being controlled

Panchayathi Raj institution in Independent India was first established in the state of:
A) Rajasthan B) Bihar 0] Kerala D) Punjab

What is the maximum term of French president after 2000 referendum?
A) 9 Years B) 8 Years O 7 Years D) 10 Years

In the US Presidential election, if no candidates win majority votes, which following
agency will decide the election result?

A) House of Representatives ~ B) The Senate

@) Chief Justice D) None of the above

Assertion (A): The working class has not evolved into a revolutionary movement
Reason (R):  Economic class interests are relatively autonomous

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
O) (A) is true but (R) is false

D) (A) is false but (R) is true

Which among the following are in the State List of 7 ™ Schedule of Indian
Constitution?
1. Fisheries 2. Insurance 3. Taxes on profession 4.  Electricity

A) I and 2 only B) land 3 only C) 2and 4 only D) 3 and 4 only

Which among the following statement is not true with regard to British House of Lords?
A) The Labour Party is against enhancing the powers of the House
B) The house cannot reject a money bill

0) Life peers can be appointed by the government

D) Women cannot become Lord Spiritual
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In which year Palestine was admitted as a member of UNESCO?

A) 1986 B) 2011 0) 2004 D) 2009
According to Gramsci which among the following are the basis of state power
1. Belief 2. Consensus 3. Agreement 4.  Government
A) 1 and 3 only B) 2,3 and 4 only

@) 1,2 and 3 only D) None of the above

What according to Karl Marx is the ‘end point of socialist revolution?’
A) Withering away of state B) Class war
0] Dictatorship of proletariate D) Historic materialism

Which among the following is the major theme of Plato’s Republic?
A) Liberty B) Equality C) Democracy D) Justice

Who among the following is considered as one of the intellectual godfathers of neo-
liberal capitalism?

A) John Rawls B) F.A. Hayek

0] Maclntyre D) Michael Walzer

How many nations signed the ASEAN declaration in 19677
A) 5 B) 8 0) 15 D) 6

Which among the following case is not related to Public Interest Litigation?
A) Hussainara Khatoon Vs. State of Bihar

B) R.C Cooper & Others Vs Union of India

@) Kadra Pahadiya & Others Vs Bihar Ghose

D) Anil Yadav Vs. State of Bihar

According to Aristotle the worst form of Government is ------ .
A) Democracy B) Oligarchy @) Aristrocracy D) Monarchy

Who among the following is associated with the theory of ‘circulation of elites’?
A) C Wright Mills B) James Burnham
@) Vilfredo Pareto D) Robert Michels

Which of the following are NOT subject to the detailed audit of the Comptroller and
Auditor General of India?

1. All Cooperative Societies. 2. All Public Corporations.
3. All Civil Expenditure. 4. All Defense Expenditure.
A) 1 and 2 B) 2 and 3 O 3 and 4 D) 1 and 4

Who among the following is known as the father of Comparative Public
Administration?

A) Woodrow Wilson B) Fred Riggis

@) Herbert A Simon D) Marshall Dimock
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The second Minnowbrook conference was organised in ------ .
A) 1988 B) 1968 C) 1948 D) 1928

Which among the following is not a principle of Panchsheel?
A) Mutual Non-Aggression B) A Peaceful Co-Existence
@) Peaceful Trade D) Equality and cooperation

Which Article of the Indian Constitution deals with Uniform Civil Code?
A) Article-38 B) Article-40 O Article-46 D) Article-44

Assertion (A): India is not a signatory to NPT
Reason (R): India is having a policy of ‘no first use’

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
@) (A) is true but (R) is false

D) (A) is false but (R) is true

Which among the following nation signed but not ratified CTBT (Comprehensive
Nuclear Test Ban Treaty)?
A) India B) Cuba O Germany D) China

What is the term of House of Commons in Canada?
A) Four Years B) Seven Years C) Permanent D) Five years

Which among the following are an essential elements in the formation of a political

party:

1. Strong Cadre 2. Organized People

3. Similarity in Principles 4. Aiming for power

A) 1,2,3and 4 B) 1,2 and 4 only

0] 2,3 and 4 only D) 3 and 4 only

Who among the following is associated with the partition of Bengal?
A) Lord Bentick B) Lord Mountbatten

@) Lord Ashley D) Lord Curzon

Identify the major postulates associated with Washington Consensus:
I. Market fundamentalism 2. Protectionism

3. Tax reforms 4. Deregulation

A) 1,2 and 3 B) 1,3 and 4 )] 2,3 and 4 D) 1,2,3 and 4

Which among the following cases is closely associated with Article 21 of Indian
Constitution?

A) Maneka Gandhi Vs Union of India

B) SR Bommai case

@) Golak Nath Vs State of Punjab

D) James Martin Vs State of Kerala
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Which part of the Indian constitution deals with Union Public Service Commission?
A) Part 14 B) Part 3 O Part 21 D) Part 4

Assertion (A): Good Governance has become a major theme of modern public
administration
Reason (R):  Globalization has made modern states independent and free

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
0] (A) is true but (R) is false

D) (A) is false but (R) is true

The Hoover Commission (1949)is related to

A) Right to Information B) Good Governance

O) Panchayathi Raj D) Performance Budget
Arrange the following events in their chronological order

1. Jacobin Club 2. Oklahoma city bombing
3. 9/11 attacks 4. 26/11 Mumbai attack

A 2,1,4,3 B) 2,1,3,4 C)  1,2,3,4 D) 1,2,4,3

Who among the following have no right to speak in a State Legislative Assembly?

A) Governor B) Chief Justice

0) Advocate General D) Speaker

Which among the following is contained in the second amendment of US Constitution?
A) Right to hold arms B) Right to public trial

0) Freedom of press D) Right to religion

The ‘New Development Bank’ is associated with:
A) ASEAN B) BRICS 0) SAARC D) NAM

The country associated with ‘orange revolution’:
A) Libya B) Armenia O Ukraine D) Iran

Which among the following Authorities in China is vested with the power to amend
the constitution?

A) National Peoples Congress  B) Chinese Communist Party

0] State Council D) Supreme Peoples Court

The state of Jharkhand was created in ----- .

A) 1980 B) 1950 0) 2000 D) 1975
What according to Hobbes was the status of state of nature?

A) Pre-political only B) Pre-social

O) State of Neutrality D) None of the above
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According to Thomas Hobbes which among the following right is maintained by
people after forming the socialcontract?

A) Right to property B) Right to freedom
@) Right to govern D) Right to Life
Which according to Rousseau is the first model of political societies?
A) Village B) Tribe O Family D) Religion
Match List I with List II:
List I List I1
a. The spirit of laws 1. TH Green
b. On Liberty 2. JS Mill
c. Science of Logic 3. Montesquieu

d. Principles of Political Obligation 4.G W F Hegel

A) a-4, b-2, c-3, d-1 B) a-3, b-1, c-4, d-2
)] a-4, b-1, c-3,d-2 D) a-3, b-2, c-4, d-1

Which among the following statements is wrong in accordance with the political
philosophy of M N Roy?

A) He supported party politics

B) He supported secular state

O) Political change requires decentralization of power

D) Political change is a means for cultural revolution

The Lok Sabha elections in India which resulted in Hung parliament:

A) 11" By 10" c) 13" D)  None of these
Which of the following is not appropriate for imposing National Emergency?

A) War B) External Aggression

0] Internal Disturbance D) Internal Armed rebellion

The last trust territory under UN Trusteeship Council to declare independence:
A) Somaliland  B) Samoa O Palau D) Togoland

Who criticized Gandhian concept of villages and declared that they are ‘cesspools of
cruelty, caste prejudice and communalism’?

A) MN Roy B) Ambedkar

0] Jawaharlal Nehru D) Lohia

How many members are nominated to the Constitutional Council by the President of
Senate in France?
A) 10 B) 5 0) 9 D) 3

The Bandung Conference is associated with?
A) NAM B) ASEAN C) SAARC D) BRICS

Which article of the Indian constitution mentioned National Judicial appointment
Commision?
A) 142A B) 134A O) 124 A D) 23A
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Which among the following honours is/are considered as a personal gift of the
Monarch in UK?

A) Order of the merit B) Order of the Garter
O Royal Victorian Order D) All of the above
Who articulated the ‘Atom for Peace’ concept?

A) D. Eisenhower B) W. Wilson

O) J.F. Kennedy D) B. Clinton

Which, according to Kropotkin are the hindrances to progress of human society
A) State family and individual

B) State, private property and religion

@) Private property and state

D) Private property and state and institutions

Match List I with List II;

List — I (Forms of Government)  List —II (Principles)

a. Presidential System 1. Legislature - Executive Fusion
b. Parliamentary System 2. Separation of Powers

c. Federal System 3. Concentration of Power

d. Unitary System 4. Division of Powers

A) a-3, b-2, c-4, d-1 B) a-2, b-1, c-3, d-4

@) a-1, b-3, c-2, d-4 D) a-2, b-1, c-4, d-3

The concept of Judicial Review in the Constitution of India has been taken from the
Constitution of:
A) USA B) UK 0] Canada D) Australia

The Information Energy Model of Comparative Public Administration is associated
with:

A) Michael Crosier B) Robert Presthus

0] Ferrell Heady D) John T Dorsey

Which of the following pairs is wrongly matched?

A) Imperialism as the highest stage of Capitalism — Lenin
B) Distributive Justice - John Rawls

@) Hegemony —Gramsci

D) Veil of Ignorance - Karl marx

According to John Locke, which of the following are the natural rights of man?
A) Right to Freedom, religion and Property

B) Right to life liberty and property

@) Right to govern, right to liberty and family

D) None of the above
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Assertion (A): For formation of identity in identity politics the existence of differences
Is sine qua non.

Reason (R):  Cultural differences are tolerated and promoted in a liberal multicultural
society

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
@) (A) is true but (R) is false

D) (A) is false but (R) is true

The Mountbatten plan for Indian independence was proposed in ------ .

A) 1947 B) 1946 0) 1942 D) 1935
Identify the states in India having legislative council from the list:

1. Bihar 2. UP 3. Karnataka 4. Maharashtra

A) 1,2 and 3 only B) 3 and 4 only

@) 1,2,3and 4 D) 2 and 4 only

The first SAARC summit was conducted at-

A) Dhakka B) Kulalampur C) Singapore D) Bangkok
How many Articles are there in UDHR?

A) 44 B) 18 0) 30 D) 25
The Anglo Indian member of the Constituent Assembly of India:

A) George Baker B) Joss Fernandez

@) George Fernandez D) Frank Anthony

According to Nicos Poulantzas which are the state apparatuses?

A) Ideological State apparatus, Repressive state apparatus and Economic state
apparatus

B) Ideological State apparatus, Repressive state apparatus and Religious state
apparatus

@) Ideological State apparatus, Institutional state apparatus and Economic state
apparatus

D) Ideological State apparatus, Institutional state apparatus and Political state
apparatus

The state which initiated the Bhoomi Project:
A) Kerala B) Karnataka
O Andhra Pradesh D) Tamil Nadu

The Constitutional Amendment Act in India depicted as a Mini Constitution:
A) 24" B) 42 C) 44" D) 73"
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Match List I with List II ;

List I List I1
a. Game Theory 1. Ole Holsti
b. Decision Making theory 2. Martin Shubnik
c. System Theory 3. Morton Kaplan
d. Communication Theory 4. Karl Deutsch
A) a-1, b-2, ¢-3, d-4 B) a-2, b-3,c-1,d-4
0) a-2, b-1c-4,d-3 D) a-4, b-1 c-3, d-2
Camp David (1978) is related to:
A) Peace in South Asia B) European Peace
O Peace in Latin America D) Peace in West Asia

Match List — I with List — II;

List—1 List—1II
a. Robert Michaels 1. Black Box Model
b. Karl Deutsch 2. Politics of Modernization
c. David Easton 3. Iron Law of Oligarchy
d. David Apter 4. Political Communication
A) a-4, b-1, c-2, d-3 B) a-2, b-4, c-1, d-3
O a-1, b-4, c-3, d-2 D) a-3,b-4,c-1,d-2

Assertion (A): Social mobilization must be accompanied by a simultaneous process

of institutionalization

Reason (R):  If mobilization outpaces institutionalization the result is political decay

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
O) (A) is true but (R) is false

D) (A) is false but (R) is true

How does Machiavelli explain human nature?

A) Rational, humane and liberal

B) Competitive, religious and moral

O) Nasty, brutish, short and solitary

D) Ungrateful, fickle, deceitful cowardly and avaricious

Which among the following is not a qualification for Vice president of India?
A) Completed age of 35

B) Citizen of India

O Member of either House of Parliament

D) None of the above

Which among the following statements is wrong about Robert Nozik ?
A) He advocated Right based theory

B) He supported Utilitarianism

O) Free market economy is not beneficial

D) Man is an end in himself
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According to Kautilya which are the sources of law:

A) Sacred Law, Evidence, Positive law, Edicts of King
B) Sacred Law, Constitution, History, Edicts of King
0) Sacred Law, Evidence, History, Wishes of people
D) Sacred Law, Evidence, History, Edicts of King

According to Mahatma Gandhi ‘Industrialization is not suited to India’. What is the
reason for his opposition?

A) It is a western Idea B) Results in unemployment

0] Not convenient D) Industrialization is not economic

Who among the following is associated with Pluralist liberalism?
A) Isaiah Berlin B) J S Mill 0] James Mill D) John Lock

New Public Management Emphasizes:
A) Lean Government B) Social Equity
@) Management by Objectives D) Performance Appraisal

Assertion (A): The aim of organic intellectual is to build up a collective
opinion about the economic and political aspects of society
Reason (R):  The intellectuals have the power to attract the attention of people

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
@) (A) is true but (R) is false

D) (A) is false but (R) is true.

The article of UDHR which speaks about right to education:
A) Article 21 B) Article 26 0] Article 14 D) Article 22

Who among the following brought the idea of PURA ( Providing Urban facilities to
Rural areas)?

A) APJ Abdul Kalam B) Narendra Modi

O) Jawaharlal Nehru D) Amartya Sen

How does Hegel explain freedom in state?

A) Absence of restraints B) Freedom to revolution

O) Limitations and constraints D) Enjoyment of fundamental rights
Match List I with List II:

List I List II

a. Right to work 1. Article -40
b. Organisation of village Panchayats 2. Article -41
c. Organisation of agriculture and Animal husbandry 3. Article -42
d. Just and humane conditions of work 4. Article -48
A) a-1, b-2, ¢-3, d-4 B) a-2, b-4, c¢-3, d-1

0) a-2, b-1, c-4, d-3 D) a-4, b-1, c-3, d-2
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The tenure of the Swiss Federal Council:
A) Four Years B) Five Years C) Six Years D) Seven Years

“ Public administration is detailed and systematic application of law”. Whose
definition is this?

A) L D White B) Woodrow Wilson

0] Luther Gullick D) Herbert A Simon

Assertion (A): Greek philosophers were the first to raise the most fundamental
problems of law , politics and state
Reason (R):  The city state was considered as the embodiment of virtue and morality

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
O) (A) is true but (R) is false

D) (A) is false but (R) is true.

David Osborne and Ted Gaebler are associated with:
A) Comparative public administration

B) New Public service

O) New Public Management

D) Public Choice Theory

How many members (including the Chairperson) are there in the Indian Lokpal?

A) 9 B) 8 C) 11 D) 15

‘Smiling Budha, is related to:

A) Religious Freedom B) Nuclear Test

0] Indian Secularism D) Article 25

The National E-Governance Plan (NeGP) was approved by Government of India in ----- .
A) 2012 B) 2000 0) 2008 D) 2006

Which among the following is not a principle of scientific management?

A) Science of work B) Division of work

@) Output maximisation D) Human relations

The Cleavage Theory of Party system is developed by:

A) Karl J Frederich B) Joseph La Palombara
0] Duverger D) Lipset

The first administrative Reforms committee of India was chaired by:
A) K. Hanumanthaiah B) Jawaharlal Nehru

@) Morarji Desai D) Veerappa Moily
Author of the book ‘Democracy and its critics’:

A) Noam Chomsky B) William Godwin

@) Samuel Huntington D) Robert Dahl
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The administrative head quarters of European Union is at:

A) Brussels B) Rome

O Hauge D) Munich

The idea ‘Gerry mandering’ is basically related to:

A) US Politics B) French Politics
0] Canadian Politics D) Swiss Politics

Author of the book ‘Administrative behaviour (1947):

A) Luther Gullick B) Herbert A Simon

0] F W Taylor D) M P Follett

Who among the following brought the idea of ‘cultural revolution’?
A) Marx B) Lenin

0] Mao D) Stalin

Identify the core theme of public choice approach
A) Public services and goods

B) Institutional pluralism and

@) Democratic administration

D) All the above

Whom among the following is related to social capital theory?
A) Kate Millett B) David Putnam
0) John Rawls D) Jeremy Bentham

The article of the Indian constitution which deals with Procedure established by law:
A) Article.14 B) Article.20 @) Article.19 D) Article.21

The case in which the Supreme court of India invoked the concept of “prospective
over ruling’

A) Golaknath Vs State of Punjab

B) Maneka Gandhi Vs Union of India

@) Keshavananda Bharati Vs. State of Kerala

D) A K Gopalan Vs State of Madras

“If all men are born free, why all women are born slaves”. Who made this comment?
A) Simone de Beauvoir B) Germaine Greer
0] Mary Astell D) Mary Wollstonecraft

Which of the following is NOT a principle of “Panch Sheel?
A) Non-Alignment

B) Peaceful co existence
0] Mutual respect for each other’s territorial integrity
D) Mutual non-interference in each other’s internal affairs
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119.  Assertion (A): Good Governance focus upon singularity of actors
Reason (R):  Good governance is reflected in terms of law, accountability,
transparency and constitutionalism

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
O) (A) is true but (R) is false

D) (A) is false but (R) is true.

120. Match List I with List IT :

List I List II
a. Kaka Kalelkar Commission 1. 1956
b. Mandal Commission 2.1979
c. Rane Commission 3.1983
d. National Commission for backward classes 4.1993
A) a-1, b-2, c-3, d-4 B) a-2, b-3, c-1,d-4
@) a-4, b-2, c-1, d-3 D) a-4, b-3, c-2, d-1
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